RETH
FRARE

RERERE

23690.0016

EmiEiR

BEAREZEANKRETH. HRBERIEERATUEAPREEVNBEMIIHNERERT
BT,

S

. BREMNBRERRE

fHE, BANER

BERERETHNERES , ARBEHEANEDEME

EE, AREEE

RO MM, TEERBERTH
BEEMZMNENERAREERETH |, Hl0 BREFIEHEIZET ( EH 22700. - EH 22720.) . H©
EAEBS ( EH 22730./ EH 22740. ) %,

- EEHEITHWAFESEE
- BiBSEEA RS 23690.0112/.0116 FHE I NKFEE
- BEBTENRERE
- THEER
- WSREMER
ME RS
e HERER :
. BEE e 1. BLH 1SO 4762-M 6 x 10 #9 L B34,
2. A BEIEHENIR,
RAOAE A2 ARAARITER (BsEHEHEE

o BURIEMN  BURTE  REZBHE Ao
4 FRNBERBIA , REFEA,
5.8 1SO 4762 - M 6 x 10 Hy L-Bh8A,

B’4E

KEiBEE -

1. RDEBBHERBEMNE,

2. BBAARIRITHITRE,
3. EBRUERMIEFETT,
BZEA

EZER

- BEEES, BARNDERKE

NHALDER

114
FIE7E: 3.2.2024



RIEZH
29: $ilp 3=l
ElE
WS
S S
l5
L [
Lo oy
i
: oo £
T e g A
7 ?\__ﬂannnu S |
= TN & =
- I
< i ( halder.de
é £ 2 23690. o
= iy
£ . \ ) (
| :r
oy / H
. 23690.0012 — DIN 7984 M12x30-109 |
23690.0016 — DIN 7984 M16x35-10.9
B ly d,
l 23690.0012 — EH 23010. M12x14
2 23690.0016 — EH 23010. M16x18 b
L4
[~ 11 = - e stop pin
o f"’%\ N DIN EN ISO 4762 M6x10-8.8
"4 U\ @:
= L 1
HES &}
R~ WS | K& RE H#h i
d dz hy hy hy hs s Iy Ip s Ii Is b nE max.
min | max. max. +1 max.
[mm] [mm] | [kN] [Nm] [g]
M16 | M12 | 47 | 85 | 70 | 126 | 85 | 213 | 120 | 50 = 17 | 125 | 55 | 18 25 75 4000 | 23690.0016
HE 2K 4
HWHALDER

FIE7E: 3.2.2024


http://halder.com/tw/23690.0016

REFZH
FREKE

& F & 5

HR3H4
NHALDER B 32,2024



RETH
FRARE

=n

Bsr

4 RoHS
Ein - HARR T HI5 6a/6b/ 6e.

245 >0.1% wiw ) SVHC Y&
&th - SVHC [REACH] JEE#ZE 2024 £1 A 23 H

aE 65 HMERNYE

A\

ERNSSEENEERE. RERSEREE.
https://www.P65Warnings.ca.gov/

TEEREY
FERTERARRREIANERMEERNEAREER EREY WYE

, BlmeB, 5. &HRE.

NHALDER

HE4m4
FIE7E: 3.2.2024



